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}

Y Assume suitable data if necessary. . 4

. o ' full

:, ﬂai 1s Java EE framewc k? How does it help to devel OP enterprise app lige s e [1+6]

2 What 1S structural dESIgn Pattems‘7 Xplam ant two klﬂd:) of it 1n aetmlS | []_b* ,:

- What is JDBC? Express your idea on JDBC fr§mework. S S 5 T:

4. What is SOAP? Describe any 10 principles-ot 1§'OA Arxchitecture. '[_Qﬂﬁ
[1+¢

> What is Java EE Application Model? Explain different kinds of Java EE clients.
* AL _ | o
€. What is Entity Bean? Explain the role of Inte-r=ptors in Java EE with neat diagram. {1+4]

L 3 - 3 1: o ”~ ‘_F—E—F-q_?
/. Wnite briefly about any thiee: e ie |3+37%5)
q) JSTl: | |
b; o & 3
¢) JAXB | ik e |
d) JPA .
’ [1+4]

. ‘What'is servlet? Explain about JSF 1mphclt Ob_]@C'[S

O.
5 What is Web 2.0? Wha is JQuery? Exphn at least 10 JQuery DOM mampulatxo:;f}
S - a J#+1_L
_ methods. | | B
10. What 1S Ajax? Give the overview of Ajax In weblapphca.non. ' [l-i #
. What. is ‘DWR’? Explam :12 detail the Java AjX Ij“ramework _ '
: [3+3+3
12. Write short notes on: (any three) ‘ 1,?
a) <JSP: include> Vs <% 2 mclude%> iy 2 v
b) EJB3 0 Architecture . ek Fa
in JS : g ey 4
- d) Dlrecuves _ i p



}

S T e ——

36C . TRIBHUVAN UNIVERSITY Exam

i p——— — e o ——

INSTITUTE OF ENGINEERING Lewel
Examination Control Division LPrOg{a 4 5
2071 Bhadra R B (s i lime

o e T ——— e —— i

e e W —

Subject - Enterprlse Apphca’uon Das1gn and Development |
(Elective 11]) (C T7§_JO4) R ARG

—— -

ol
—_———— = T

v (Candidates are reqmred to give their answers in t 11, 0Wn words as far as prac cticable.

v’ At tte *rptAll questions. : ' :
v The figures in the margin indicate Full Marks. .

v Assume suitable data if necessary.

’ - A = | e '
v 1,\Whatis an enterprise? What characterizes an enterprise application? [2+3]
i ,
| . F ? [2+3]
\ 2 ,/a; What is a design pattern? Whnat is its s:gm cance
T ¢ !
< ? M ibe the abstract factory pattern along wntb ’an example. | SR

o
i
X 3/c izin the bene
the

" the functions of data, business, services and presenta

fits of usmg a multi-tiered architectire in apphcat:on development. Briefly eXplam
bn layers in an application architecture. [5#5]

e N - What is the significance of XML? Brseﬂxex lai r XML works. P

hat is the use of XML Sche na? What s the rou of XSLT? _ el e '
Wat are théa;_{a;ig éncoded in 2 WSDL document? ‘How is @ RESTiul web service daﬁerent froma
SOAP-based web service? : K | | i , “{5+5]

i

sccribe the different components and containers u‘iava EE architecture. Compare annotations
and demgyment descriptors in Java EE? ' . , | | 5+ 3]

7 #iat are message driven beans? Describe how theygvork in Java Messagmg System. [2+5}

\

| \%m IS persrstence context in Java Persistence API? How do you convert a POJO mto an entitv?

| [5+2]
. 4 l
\ /Q/txplam_ the JavaServer Faces {JS) architecture for web application development. Describe the
" function of Expression Language in JSF. 3o % . [5+3]
I/lolp’ihatjs the signiticance of AJAX? Describe how AlK works. AT A [2;-3]
| o LT

-
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" Candid |
<l1dldates are required to

15 Tl give their answers'in th:;ir own words as far as practicable.
. cliempt All questions. Y '- o
v

:
7}* 2 gcrg,gyes . S _
Xt enr 4 A the margin indicate Full Marks.
Asgume suitable data if necessary | :
:.}.__ ‘iﬁb/hai- do ¥ ,
7 v O - . . - ’
i ' YOU understand by Suftware Architecture Explain N-tier architecture with example. How is
is~Lier . I : . | | ; |
S architecture different from layered architec*ure? _ 2+ 3+ 1

What do | | | *
tor b YOU understand by Software Design Patterns? For each of these requirements identify one
._ 'ore} GoF pattern that can be 261, .

A2 : - use and briefly justify your choice: * [2 + 6]
_’_;P s £ E fec:,rlUfred {0 enhance an existing banking so*;iiﬁrare. |
1 1:C OFiginal s ‘ : | 1 il
i g t.‘:‘ﬁware worked only with the SCT newwork now we need to make that accessible
'rough theVisg Electron network

different as well. Vi.é"q Elettron has provided with their APl which has a
HSIENESet of methods than that of the SCT network. ' '

Since bot . :
; n 'Of the netvworks have.to prowdefsimﬁar features, you note that the methods differ
only in their names ard how the. ' ' ' '

network with | the*p arameters are passed. You need to interface to the new
_ VIt minimai changes to your busi 0Ny Py e
interface. - A= Yo ”5”_7955 IOQIC‘T f possible just a wrapper over the SCT

% &>

¥ txplain JDBC architecture. What

_ S 3 Prebaredstat‘ ?nlantv b
PreparedStatement? How does a | Yhat are the uses.of g

PréparedStatement '

| prevent SQL .

What is XML? Write down basic rules of XML o g Gt 2]
Flow do Web Services work? Explain the structure pf a SOAP message .
What do you understand by Session? How session is m - 42 4]

‘advantages of JSP over Serviet?

Write_at;oi_:t types of Dependency fnj'e"ctioﬁ with Sz’rpple code | | Lo T AR e

}
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g. What doyou understand by Web 2'.0? How 0 V\fﬁf.‘-:;b 2.0 aPPﬁ?étions diﬁer from traditiénal v:zet: " %
ptReronsy - * : -.d? AP P e 25 [3+3+ 3]
5 Write briefly about any three of the following Java EE technologies: . :
_ JAX-RS (Java API for RESTful Web Services) A AR )
b JPA (Java Persistence AP) - - _
c. EL (Expression Language) | - Al |
d.' JSF (Java Sever Faces} - g oh | _
. e. Java Mail AP * e AR R . -
e 10. Write the difference between: i X 112
4 qspinclude> action and <%@ include >difective e
~ b. ¥jsprinclude> actiona'hd'*<Jsp:forW§rd>Iﬁf_c':tion | e 3
c.. <% %> and <jsp:scriptlet> </jsp§$éri;;’et-> |
d, <%! %> Shd <% %=iniSP . - i s
. complexType and simpleType in XML S | i
' o f. <sequence>and <all> in XML Sch T |
i 3 it isa Filter in Java EE? How does it work? Give an example w

a Ty "
T,
1
.- ﬁ.
f iy
# 'ﬂ*
4

i<
e
",Ir.-
il

ith sample code. {1 +2+ 2]

.
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~ Landidates are required to give their answers in their own words as far as practlcable.
v Altempt All questions. + '

© The figures in the margin indicate Full Mbrks* :
Assume suitable data if necessary. 4 j
1. . Explain MVC architecture with examples. . Is M\ architecture same as a 3-tier ' 6+ 3
architecture? e
2.  Whatdo you mean by design pattern? Explain a 9y 2 GOF design patterns. ' 2+38
. | ; -
3. =xplain JDBC architecture. What is a COﬂﬂECtIO"l pool? Give some examples of s L
N Connection Pool.
_ ! |
4, What do you understand by Service Or:ented pretitecture? What are the entities of 2 B
SEAd. 'j oy A
When can we say an XML document is well-forrﬁed? Explain with exampies. 1 : 3
6. txplain the lifecycle of a Serv!et Explain how an HTTP request is handled by a web 4 + 4
7 How do you inject depencency and where s depwdency m;ect;on applicable? 24 | G
Explain with one example of OO programming. ‘
8. . How Web 2.0 is changing business mode!?;Wha do you think are the key factors of 4+ 4
Web 2.0? - | '
§

g
o4
jd

g. What will be the effect-of the following lines in JSP;

L2

. 3. <H!--xx--%>

5 SO < (SRS OY ey

10. Explain briefly about any two Java EE ﬁPls.

+1. How are Web Service's discovered? Write éboutﬁt}pe key technologies involved.
1 : :

kdkk
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v Al ﬂprAll questions. : |
v/ T he figures in the margin indicate Full Marks. :
v _dssume.suitable data if necessary. Ly ;

|. What do you understarid by Software Architecture? Explain N-tier architecture with

example. How 1s N-tier archit:..cture different fror; layered architecture? [2+3+1]
0. How are design patterns clas Slﬁed by GoF (Gaqg of four)? Explamn any 2 GOF design
~ patterns. | _ " Eamd
3. Explain JDBC architecture. What is a Prepa:.:dStatement? What are the uses of &
PreparedStatement? How does a PreparedStatem#at prevent SQL attacks? | 3L e
W m do you understand by Scrvice Oriented Arclitecture? Explain how 1t works. . [
>. Hows do Web Services work? Explain the struct turz of a SOAP message. | [4+2]
5. Explain thx; hfecycle of a JSP page. Explain briefly about the followmo implicit objects in
\)D ; ‘ e | 1‘-.4-1-4]
%) Session , : ba.
.b) Request | ;
7. Write about types of Dependcacy Injection with sample code. ‘ Vo 151
8. 'vhat is Web 2.0? Explain hcw Web 2.0 embraces architecture of participation. gt
9. Write briefly about any three of the following Java EE technologies: iR AL

2) JAX-RS (Java API for RizSTFUL Web Services)
'b) JPA (Java Persistence API) - = _-
.y EL (Expression Language) - SR
d) JSF (Java Sever Faces) - )
e) Java Mail API | |

10 \Write the difference between® - | =
a) <jsp:include>action and - Y%o@include > dir five |
b) <jsp:include>action and <Jsp: fgrwa__rd“> acti _
S <% ! %> and <% % > in ISP | -
c’" CDATA and PCDATA . ' | f'
e) Complex Type and simpi. Type in XML Schema |
Java EE? How does it work? Giye an example w1th sample code. f1+242]

kA A

i _ :

v

i] Whatisa Filter in



